Find the cube root of 2744.
(A) 25 (B) 9

(C) 8 (D) 14
(E) Not attempted

(i

The Tangri river begins its journey at
in Haryana.

(B) Aravalli hills
(D) Ambala

(A) Kalka
(C) Chandigarh
(E) Not attempted

Complete the following analogy.
Vitamin A : Retinol :: Vitamin C :
(A) Tocopherol (B) Calciterol
(C) Ascorbic acid (D) Niacin
(E) Not attempted

Find the smallest number that must
be added to 1780 to make it a perfect

square.
(A) 36 (B) 64
(C) 69 (D) 81

(E) Not attempted

The Central Investigation Department
(CID) training school of Haryana is
located at

(A) Zirakpur

(B) Panchkula
(C) Chandigarh
(D) Gurugram
(E) Not attempted

The water accumulated under the
ground surface is called

(A) Ground water (B) Well
(C) Spring (D) Canal
(E) Not attempted
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8.

10.

11.

_________is a footstool that features
a seat made of intertwined strands of
thread in various colors and patterns.

(A) Sanghi (B) Pidi
(C) Jutti (D) Peedha
(E) Not attempted

Mixing of unwanted substances with

water is called

(A) Nuclear pollution-
(B) Sound pollution
(C) Soil pollution

(D) Water pollution
(E) Not attempted

L
[=]:

Rural Infrastructure Development Fund
(RIDF) was established in

(A) 1995-1998
(B) 1995-1996
(C) 1992-1993
(D) 1992-1996
(E) Not attempted

Find the average of first.40.natural
numbers.

(A) 25.5

(C) 20.5

(E) Not attempted

(B) 21.5
(D) 24.5

This prominent Hindi writer of Haryana
had compared the acts of Lord Curzon
with Nadir Shahi

(A) Hali

(B) Lala Lajpat Rai

(C) Bal Mukund Gupta
(D) Pandit Nekiram

(E) Not attempted
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12. Pradhan Mantri Jan Dhan Yojana was

launched on

(A) 28™ August 2014
(B) 28™ August 2016
(C) 28" November 2016
(D) 28™ November 2014
(E) Not attempted

13. Masani dam of Haryana is built across

which among the following rivers ?

(A) Sahibi

(B) Yamuna

(C) Krishnavati
(D) Tangri

(E) Not attempted

14. Full form of NDC
(A) National Directory College
(B) National Defence Course
(C) National Defence College
(D) National Directory Coast
(E) Not attempted

15. Find the square root of 1471369.

(A) 1412 (B) 1213
(C) 1312 (D) 1413
(E) Not attempted

16. The Forests Department of Haryana
runs which among the following
breeding centres in Kurukshetra

district ?

(A) Pheasant Breeding Centre

(B) Peacock and Chinkara Bree
Centre

(C) Chinkara Breeding Cengre

(D) Crocodile Breeding Centre

(E) Not attempted
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14,

15.

16.
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17.

The difference of 2 numbe::s is 1!
and one-fifth of their sum 18 9. Find
the numbers.

(A) 28 and 16
(B) 28 and 17
(C) 25 and 17
(D) 26 and 17
(E) Not attempted

18. What is virtual memory ?

19.

20.

21.

(A) The process of dividing physical
memory into small blocks

(B) The process of compressing memory
to save space

(C) The process of simulating more
memory than is physically available

(D) All of the above

(E) Not attempted

Which function is used to read a
character from the console in C ?

(A) putchar() (B) getchar()

(C) scant() (D) gets()
(E) Not attempted

Evaluate : 28% of 450 + 45% of 280.
(A) 201 (B) 252
(C) 254 (D) 356

R
(E) Not attempted &

it

What is the reason behind Red soil

developing a reddish colour ?

(A) Over grazing

(B) Due to the presence of high iron
oxide

(C) The presence of potash and
magnesia

(D) None of these

(E) Not attempted
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22.

23.

24,

25.

The sum of 2 numbers is 184. If
one-third of the one exceeds
one-seventh of the other by 8, find
the smaller number.

(A) 64 (B) 76
(C) 84 (D) 72
(E) Not attempted

If a radio is purchased for Rs. 490
and sold for Rs. 465.50, find the loss

percent.
(A) 5% B) 7%
(C) 6% (D) 9%

(E) Not attempted

Which among the following lakes is
located in Rohtak District of Haryana ?

(A) Karna Lake

(B) Brahma Sarovar
(C) Tilyar Lake

(D) Blue Bird Lake
(E) Not attempted

What value will replace the question
mark in the following equation ?

4%+3-é—+?+2%=13§

(A) 13% %‘%ﬁ'
(B) 3%

(©) 3%

(D) None of these

(E) Not attempted

CG - CH23

22, 2 @3 T AN 184 2 | ATE TH &
e -orers q@ % WA I F 8 I R,

& B " 7
(A) 64 (B) 76
(C) 84 (D) 72
(E) Jranfad
03, Ffe ws A 490 TR H GG I 2
31T 465,50 T § =1 7A@ 8, A1 B H
wfrera Td AT |
(A) 5% (B) 7%
%%E (C) 6% (D) 9%
B (g) srgfya

24, fr=fafiga 4 @ sH- 3he sfemon $
Tigas forel d R 8 7
(A) Ut 3fa
(B) ST& TS
(C) foeum sfim
(D) =1 &€ 3
(E) Tmfia

25. Fefafes wfteo & uy g % o @«
HIH-FT T U ?

1 .1 1 2

4—+3= S =13%

5 36+?+g3 1*35

A) 13>
10

2

{B) 3‘5

1
©) 3

(D) 378 ¥ 1S 7
(E) i



FrrE

26. Complete the following analogy.
Fish : Aquarium : : pPoultry :
(A) Farm (B) Shed
(C) Den
(E) Not attempted

27. ________ wastheEditor of Haryana’s | 27.

first newspaper ‘Haryana Jhajjar’.
(A) Rajaram Shastri
(B) Bhagwat Dayal Sharma

]
2

[EE

(C) Deen Dayal Sharma
(D) Ramacharan Shastri

(E) Not attempted

28. If2x+3y+z=55,x+z-—y=4and 28.
y — x + z = 12, then what is the value

ofz?
(A) 9 (B) 7
€) 5 (D) 8

(E) Not attempted

29. The Karnataka State Co-operative
Marketing Federation Ltd. plays a

major role in supplying

(A) Chemical fertilizers

(B) Agricultural implements
(C) Pesticides |

(D) All of the abpve

(E) Not attempted

30. Full form of RKVY
(A) Rajya Kendra Vikas Yojana
(B) Rajya Krishi Vikas Yojana
(C) Rashtriya Krishi Vikas Yojana
(D) None of these
(E) Not attempted

(D) None of these
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31.

32.

33.

34.

Which among the following is .
considered as the first Haryanvi

language movie ?
(A) Chander Kiran
(B) Dharti

(C) Bahurani

(D) Chandrawal
(E) Not attempted

India is the largest Country
in the world in terms of area. -

@) s ®) 7 el
(C) 8 (D) 9 (el

(E) Not attempted

Which of the following is true regarding
Subroutines in a computer program ?

(A) Subroutines cannot return a value
to the calling program

(B) Subroutines can only be called
from the main program

(C) Subroutines are used to perform
repetitive tasks in g program

{D) Subroutines can have their own set
of local variableg

(E) Not attempted

If the cost price is 96% of the selling
price, then what is the profit percent ?
(A) 6.17% (B) 4.17%
(C) 3.17% (D) 5.17%

(E) Not attempted

(€) wgTHft
(D) SgIEd
(E) v

&T%A % g U WG ghr #

TR TSR |

(&) 5

(C) 8

(E)

SO T | FEE & R § Pt

7Y H-TT TR R 7

(A) FEE HiferT ST Y i deq
A9E & L ghar &

(B) HeE &l ot 76T WU A A
et fohar 51 Tehar 2

(C) Teht Sham & Sraow S e F T @
FH F e wawd=a 1 39T
ST 8

(D) FEEEIH T 79T wilehel IRTST
o T2 Bl HehaT &

Ho)

(E) A9

32.

_—

B) 7
(D) 941

33.

=

34. IR N T fosha g @1 069 2, dt
T T Wi @ 2 2

(A) 6.17% B) 4.17%
(C) 3.17% (D) 5.17%
(E) rvafyg



35.

36.

37.

38.

The regulated and controlled
distribution of essential goods among
people

(A) Public Distribution System

(B) National Institute of Agricultural
Marketing

(C) National Co-operative Development
Corporation

(D) Source of Agricultural Credit in
India

(E) Not attempted

If in a certain language A is coded as
1, B is coded as 2 and so on , how is
BIDDIC coded in that code ?

(A) 394492
(B) 284563

(C) 294493
(D) 375582
(E) Not attempted

Full form of NAIS

(A) National Arguments Institution
Survey

(B) National Agricultural Insurance
Scheme

(C) National Argument Insurance
Scheme

(D) None of these
(E) Not attempted

EHRE
e
et

A sum of Rs. 800 amounts to Rs. 920
in 3 years at simple interest. If the
interest rate is increased by 3%, it
would amount to how much ?

(A) Rs. 998 (B) Rs. 995

(C) Rs. 992 (D) Rs. 997
(E) Not attempted

-9-
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39. A and B together can complete a piece of
work in 4 days. If A alone can complete
the same work in 12 days, in how many

days can B alone complete that work ?

(A) 5 days (B) 7 days

(C) 8 days
(E) Not attempted

(D) 6 days

Transformation of Aspirational
Districts Programme was
announced by

(A) NITI Aayog

(B) Pradhan Mantri Yojana

(C) Atal Pension Yojana

(D) None of these

(E) Not attempted

40.

41. A cyclist covers a distance of 750 m
in 2 min 30 sec. What is the speed in
km/hr of the cyclist ?

(A) 18 km/hr

(B) 12 km/hr

(C) 13 km/hr

(D) 17 km/hr

(E) Not attempted

42. IfD =4 and COVER = 63, then
BASIS = ?
(A) 55 (B) 50
(C) 49

(D) 54 @Em
(E) Not attempted %h’}%

Full form of IMRB
(A) Indian Market Research Bureau

(B) International Market Research
Bureay

(C) Indian Market Rura] Business
(D) None of these
(E) Not attempteqd

43‘

e

40.
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T Aisfhet AR 2 fiFe 30 B 1 750 1w
1 gt 79 a1 7, A Tl wER 6
feft/aar d 7 @ 2

41.

(A) 18 Topift /een
(B) 12 feprft /ey
(C) 13 fortft /5ey
(D) 17 Tt /eien
(E) 3tvafdm

42. 3R D =4 3N COVER = 63, A BASIS =?
(A) 55 B) 50
(C) 49 (D) 54
(E) T

43. IETHAET 1 qof &g 2
(8) 3T M frast gy
(B) ST Wi frg =
(C) 3 wrhe =t fasm
(D) ¥ & 1§ 7
(E) ST
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44, Hisar Airport of Haryana is formally
known as International Airport.
(A) Daya Ram
(B) Maharaja Agrasen
(C) Bhagat Singh
(D) Pandit Neki Ram

(E) Not attempted

45. The largest Delta of the world is
(B) Ganga
(D) Nile

0]

(A) Mississippi
(C) Sunderbans
(E) Not attempted

&
T
(Okr

X introduces Y saying, “He is the
husband of the grand daughter of the
father of my father”. How is Y related
toX?

(A) Son in law

(B) Son

(C) Brother

(D) Brother in law
(E) Not attempted

47. Find the average of all prime numbers

between 30 and S0.

(A) 38.8 (B) 49.8
(C) 59.8 (D) 39.8
(E) Not attempted

48. Doordarshan Kendra, the only

Programme Production Center at
Haryana is at this place

(A) Hisar

(B) Gurugram

(C) Ambala

(D) Yamunanagar

(E) Not attempted
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49.

S0.

51.

52.

53.

is the first woman in India who
has won Olympic medal in wrestling.
(A) Sangeeta Phogat
(B) Sakshi Malik
(C) Babita Phogat
(D) Geeta Phogat
(E) Not attempted

Which is the number that comes next
in the sequence ?

o, 6, 24, 60, 120, 210, ? l%%
() 504 (B) 290 i
(C) 240 (D) 336

(E) Not attempted

A deposition of sand which results in

a long, narrow embankment in the
sea near the coast is called

(A) Beach
(C) Sand bar
(E) Not attempted

(B) Lagoon
(D) Latitude

Who among the following famous
personalities is often known as “Gandhi
of Haryana” ?

(A) Babu Mool Chand Jain

(B) Dharam Singh Hayatpur

(C) Sir Chotu Ram

(D) Rao Tula Ram

(E) Not attempted

What is an instruction code in

computer architecture ?

(A) Asetofinstructions used to program
a computer

(B) A type of machine language used
by computers %

(C) A code' used to represent the
operations performed by a
Central Processing Unit (CPU)

(D) All of the above w

(E) Not attempted @3;{5

49.

50.

51.
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S3.
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CG - CH23

54. Find the H.C.F. of 108, 288 and 360. | 54. 108, 2gg 3t 360 1 HETH T
(A) 36 (B) 28 (weefte) s <A, |
Of (A) 36 (B) 28
C) 30 e
” (D) 26 @i (C) 30 (D) 26
(E) Not attempted (E) 3t
55. The outermost solid cover or shell of | 55. tiweaﬁ ¥ ey s el 3 AE A 29 H
the earth is known as EI-Tg{Gﬂ?IT% |
(A) Igneous (B) Sima (A) I (B) e
(C) Earth crust (D) Sial (C) % = [DRERISE
(E) Not attempted (E) 3msmiEe
56. The two general categories of crop 56. G St 1 & G AR w__
insurance are called <hal SIdarl i
(A) Crop-yield insurance and crop-
revenue insurance (A) FEA-3 ST 3R e T ST
(B) Crop-price insurance and crop
revenue insurance (B) H-HE ST 3R e T S
(C) Crop-price insurance and crop (C) HEA-HH w31 wEa =
insurance .
D) 3T | ¥
(D) None of the above ©) RA AL
(E) Not attempted (E) TR
57. Which of the following is true about | 57. C # u HaeH & et @ i FE &
passing an array to a function in C ? T freffsa @ se-mrad 2 7
(A) Only the last element of the array (A) @ HT hae 3ifem T HawH & oY
is passed to the function g feran s 2
(B) ';he entire array is passed to the (B) TYU W %l HEH & g I g0
unction by value
5] e feRan S @
(C) The entire array is passed to the SaE (C) T W R HeH % forg wed AT
function by reference urg fepan Srar 8
(D) Only the first element of the array (D) W 1 Hael Y& Ted HhawH & (7
is passed to the function arE foman siran @
(E) Not attempted (E) Ty

-13-



S8.

59.

60.

61.

is the most important and | 58.

—<pread category. It covers 40% of
rhn: ;:gd area. In fact the entire Northern

Plains are made up of these soils,
(A) Alluvial soil (B) Red soil

(C) Black soil (D) Laterite soi]
(E) Not attempted

Which of the following diagram 59.

correctly represents Elephants, __
Wolves, Animals ? Eﬁﬁ;

@ PP
CIG 8D,

0]

(E) Not attempted

Pointing out to a photograph, a man | 60.

tells his friend, “she is the daughter of
the only son of my father’s wife”. How
is the girl in the photograph related to w

the man ? EAE

(A) Sister (B) Cousin
(C) Daughter (D) Mother
(E) Not attempteq

Which museum has been built to 61.

g’i"‘:it]?;;;;:f:?‘:ts from the Indus Valley
(A) Banawali museym,

(B) Mohenjodaro musey,
(C) Harappa museum

(D) Rakhigarhi museum
(E) Not attempted

-14-
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62.

63.

64.

65.

66.

Which of the f ‘ _
divisible by 3 ,g llowing number 18

(A) 541326
(B) 1111

(C) 5967013

(D) None of these
(E) Not attempted

: is the most widespread
orm of advertising and is the favourite
of the Indian rural masses.

(A) Folk media
B} Pty e
(C) Magic shows i

(D) None of the above
(E) Not attempted

During this year, seat of Punjab High
Court shifted to Chandigarh

(A) 1968
(B) 1958
(C) 1955
(D) 1965
(E) Not attempted

If + means /, —means * / means + and
* means —, then

36*12+4/6+2-3 =7

(A) 2

(B) 42

(C) 18

(D) None of the above

(E) Not attempted

Where is the Niagara river found ?

(A) North-America(B) India

(C) Japan (D) Australia

(E) Not attempted

62.

63.

64.

65.

66.
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Asffea i & -0 don 38 o @ 2
(A) 541326

(B) 1111

(C) 5967013

(D) 37 & 1§ TE

(E) arvarfa

_ fag o gEd SIS ¥R
Tt 3Ty ST T gEdre @ |

(A) i Hifea

(B) afet Gfem

(c) Afs= m

(D) I | & HI3 TE

(E) JrwmEmed

g 3eg R &1 He =dg § e
% % SN TR g

(A) 1968

(B) 1958

(C) 1955

(D) 1965

(E) 3TTtEd

af2 + 1 e/, — % ek, /7 3 + IR
* o1 3 -8, A

36*12+4/6+2-3 = ?

(A) 2

(B) 42

(C) 18

(D) S § | S T




67.

68.

69.

Which of the following is the correct
syntax for using malloc() to allocate
memory for an integer variable

(A) malloc(2 * sizeof(int))
(B) malloc(sizeof(int™)) v
(C) malloc(sizeof(int)) %&i
(D) malloc(sizeof(int)) * 2

(E) Not attempted

Find the L.C.M. of 72, 108 and 2100,
(A) 37500
(B) 37600
(C) 37800
(D) 37400

(E) Not attempted

What is the LOOK disk scheduling
algorithm ?

(A) A disk scheduling algorithm that
services requests in one direction
until there are no more requests in
that direction, and then reverses
direction and services requests in
the other direction

(B) A disk scheduling algorithm that
services requests that are closest
to the current position of the disk
arm, and changes direction when
there are no more requests in that

direction

(C) A disk scheduling algorithm that

services the request that requires
the shortest rotational delay

(D) None of the above
(E) Not attempted

7. el T ARG Pl G AT
R mauoc()wwﬁnma;fm
e Hd F-a1 e wd & 7
(A) malloc(2 * sizeof(int))
(B) malloc(sizeof(int*))
(©) malloc(sizeof(int))
(D) malloc(sizeof(int)) * 2

(E)

72.108 3 2100 1 TAYTH HAYEH
(werefieH) T HIT |

(A) 37500

(B) 37600

(C) 37800

(D) 37400

(E) 3TSRmtea

69. Tb (LOOK) fewh Jesifent ueiifen «=m & 7

(A) T% fem= v=gfom wenies st o
fesn & aw o AL B @ Har B
9 % 39 fewn § +I 3 g0y |
&, 3 f foem screst ol foum 8
AT W1 G T

(B) T femh Sieatfent wenifien S fewn amd
i Fdne feufd & w98 FHia & o
U T B, 3 3 feuw A ol
- I 7 B9 T e wee o 2
mﬁi‘é (C) T fewa Feegfem weiiften < wide
oofl focie % onfda sy = W@
EGI
(D) 39w # & *IE T

(E) 3Ts=nfea

68.
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70.

71.

T2.

73. A deep and narrow valley

e Y layer lies below the

(A) Mantle

(B) Rocks

(C) Core

(D) None of thege
(E) Not attempted

Shivalik hills are not found in which

among the following districts of
Haryana ?

(A) Ambala

(B) Yamunanagar
(C) Sirsa

(D) Panchkula
(E) Not attempted

Find the largest number which divides
62, 132 and 237 to leave the same

remainder in each case.

(B) 35

0]
257
=

=400
=
I

(A) 39
(C) 34 (D) 37

(E) Not attempted

with steep
sides is called a

(A) V-shaped valley

(B) Delta

(C) Gorge

(D) All of the above

72.

73.

(E) Not attempted

CG - CH23

 TamesARREE
(A) Hew

(B) =rgw

(C) ®R

(D) 378 | I3 &

(E) arnfa

Rraferes warfeat whmon & Freferfea 3
Ty e 3 7 o et € 7

(A) TS
(B) I
(C) feram.
(D) T
(E) =i

o5 ged w< gEn T hi e
62, 132 30t 237 ® fafim T W
ToF WHe § T R & |

(&) 39 (B) 35

(D) 37

Fﬁaﬁmﬁmﬁwﬁnﬁﬁaﬂwﬁﬁaﬂﬁ
gl S @ |



74. Which of the following statements

75.

76.

is true about inter-function
communication ?

(A) Inter-function communication
can only be done between
functions that are defined in the
same file

Inter-function communication
refers to the use of function

arguments and return values
to pass information between

functions

(B)

Inter-function communication
refers to the use of global
variables to pass information
between functions

Inter-function communication is
not possible in most programming
languages

(E) Not attempted

()

(D)

Find out the missing number in the
following sequence.

1,3,3,6,7:9,2, 12, 21

(A) 13
(B) 11

(C) 10

(D) 12 53]
(E) Not attempted gﬂ%

During the first World War, of
Ambala district in Haryana was one of
the architects of the Ghadar party in
San Francisco.

(A) Deen Dayal Sharma
(B) Teeku Ram

(C) Neki Ram

(D) Kanshi Ram

(E) Not attempted

CG - CH23

- w_m:rﬂﬁ%m%ilﬁﬁﬁﬁﬁﬁ
- WE R 7

A ot FRIARIH et JE Wi 3
e e % St TR ST Wb

(B) SH-HHM FHRfhYH, W%m—q
AT ITE HW o 0 GRH T 3k

(©) TH-HRE HRARIE, FHRE 5 g
gl H U F & 0 9 =
39T 1 Hehia e 8

(D) i Tt e # FR-%E
FIAHIE T9F TE 8

(E) 3Tw=nfad

75. Trefofea s § ow gen 7 St |
1,3,3,6,7,9,2, 12, 21
(A) 13
(B) 11
(©) 10
(D) 12
(E) Jrwantaa

o
!;jﬂ:;Ei

76. S o 3 % 2, e 3 sieren R

%ﬁﬂqmﬁﬁ%ﬁﬂaw%ﬁm
THTH Y |

(A) <H gaTe i
(B) g 1w

(C) =t 1w

(D) st T

(E) T5nfaa
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5

77 If in a code, ALTERED is written as

78.

79.

80.

81,

ZOGV
RELA'II‘;\[;! then in the same code,
Would be written as

(A) VIOUYGM
(B) IVOZGWv
(C) IVOZGVwW
(D) IVOJKHM
(E) Not attempted

Classification of rural markets
(A) Consumer market

(B) Services market

(C) Industrial market

(D) All of the above

(E) Not attempted

What value will replace the question
mark in the following equation ?

8597 — ? = 7429 — 4358
(A) 5258 (B) 5526

(C) 5528 (D) 5256
(E) Not attempted

This district of Haryana has least
number of Gram Panchayats

(A) Faridabad
(B) Panipat e
(C) Gurugram ﬁ%

(D) Mahendragarh
(E) Not attempted

How many terms are there in

2, 4, 8,16, ..., 1024 ?
(A) 12 (B) 8
(©) 5 (D) 10

(E) Not attempted

CG - CH23

77. 3wk wrg #f ALTERED l ZOGVIVW
feran st 2, v 3¢ Frs A RELATED &I
et feran s |

(A) VIOUYGM

(B) IVvOZGWV

% () IVOZGVW

(D) IVOJKHM

(E) 3rsenfira

78. T ST o1 AR
(A) TR TSR
(B) BT SR
(C) 3nenfirs TSR
(D) Il |+t
(E) Tt

wo. Frefafiag gt § a9 e % ®H |
HIF-TT TH AT ?
8597 — ? = 7429 — 4358

40|

=
f,-ic
o]

(A) 5258 By 5526
(C) 5528 (D) 5256
(E) Twanad

go. wramm ¥ fru fet & we® w0 7™
qEEd & ¢

gi. 2.% 8 15,0 1024 § frA 7e 2 ?
(A) 12 (B) 8
(C) S (D) 10
(E) 3TnfEd
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P
82. Whatis a dependent statement in
programming ? )
(A) A statement that is used to define
a variable
(B) A statement that depends on the
=" execution of other statements in
the program
(C) A statement that executes
independently of other
statements in the program

(D) A statement that is only executed
under specific conditions

(E) Not attempted

83. How many number of times, President

Rule was imposed on Haryana ?
(A) 4

(B) 2

€) 1

(D) 3

(E) Not attempted

84. What value will replace the question

mark in the following equation ?
?-1936248 = 1635773

(A) 3458690
(B) 2021357 mgm
(C) 3572021 3

(D) 1936248 i
(E) Not attempted

85. What is rotational delay ?

{(A) The time required for the disk arm
to move to the correct track

(B) The time required for the disk
controller to process a disk request

(C) The time required for the disk to
rotate to the correct sector -

(D) None of the above
(E) Not attempted

CG - CH23

mﬁnﬁ%&&é‘c’ﬁzw@mg?

82. ) e e S et At = g
w0 % fore yam fan s 2
[Bl@éﬁzﬁmﬂméﬁﬁﬁ;
freqred T it & 2
i itz 5w # I R g
ol © T a e A 2
feqrfed giar 2
(E) 3SR
g3. i ¥ fRaet s Tsgaf e FmEr
7
(A) 4
(B) 2
€) 1
(D) 3
(E) JrwTid
84. fr=fefaa grfieor 4wy fog & =&IF W
HI-HT 7 BT ?
? — 1936248 = 1635773
(A) 3458690
(B) 2021357
(€) 3572021
(D) 1936248
(E) STt
85. Uit facia w1 R 7
(4) fow ami =t =& 3% www § foe
i Twa
(B) fow iy = waifaa @ & fog
fo= = gra anufea g
(C) Temr = v Fvx # yam & forw
i T
(D) ITdad # | HI3 A&
(E) 3Tsnfaa
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g6. In acertain code, SIKKIM is written as

THLJJL. How is T L ‘
that code ? RAINING written in

(A) SQRSGREE
(B) SDHMLHJI
(C) UQBHOHOF
(D) None of these
(E) Not attempted

87. NationEfl Agricultural Co-operative
Marketing Federation (NAFED) was
established on

(A) 27 October 1956
(B) 2" October 1985
(C) 274 October 1958
(D) 27 September 1958
(E) Not attempted

88. . Expressway of Haryana is
the longest 6 lane flyover in India.
(A) Kurukshetra
(B) Chandigarh
(C) Ambala EL%
(D) Panipat
(E) Not attempted

89. An aeroplane flies along the four sides
of a square at the speeds of 200, 400,

600 and 800 km/hr. Find the average
speed of the plane around the field.

(A) 564 km/hr (B) 384 km/hr
(©) 765 km/hr (D) 444 km/hr

(E) Not attempted
90. Find the least number exactly divisible
by 12, 15, 20 and 27.
(A) 240 (B) 540
(C) 440 (D) 340
(E) Not attempted

86.

[=123% =]

CfsaE

87.

88.

89.

90.
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UF ffer Az i SIKKIM F-THLJJL feran
S B, A TRAINING 1 A ferEn ST 7
(A) SQRSGREE
(B) SODHMLHJI

1€) UQBHOHOF

(D) 374 @ =g TE

(E) 37vRmfaa

Tty et fadqum @9 (NAFED) 1
T o <h1 s 2t |

(A) 2 TSR 1956

(B) 2 37ags 1985

(C) 2 37ag=K 1958

(D) 2 fodet 1958

(E) 3Ts=fad

i@ =1 THSEY °d H 3™
I T TEE €T 6 A TS 2 |

(A) FEEA

(B) =g

(C) =TT

(D) aIEa”

(E)

Wm@aﬁ%ﬁfﬁaﬂ'{ 200, 400,
600 3T 800 Temst/wier </ ifar & 3=t B,
1 fer o =t o fome <R eftwa nfa wa
=T |

(&) 564 foprft/eer  (B) 384 foHi/=er
) 765 Tl /g1 (D) 444 fedt/=e
(E) TS

12,15, 20 3 278 gt ot e 8n

arefl T=8 B e I Hifg |
(A) 240 . (B) 540

(C) 430 (D) 340

(B) 3T



CH23
B e
English Language
g AT IR TIYGR ¢
91. Complete the following analogy. 96 ?ﬂ yﬁﬂah
Hen : Pullet : : Kangaroo : +A)
(A) Joey (B) FraTa
(B) Calf (c) e
(C) Cub D) R EL
(D) Pup 5 ) ST
(E) Not attempte ’
| o7. ‘.@T%-a;ﬂﬂ ETEIRSEL % 7
92. How many tenses are there in English A) FHE
Grammar ? { ;
(A) 8 (B
) 2 oy 6] ST
(C) 4 S8% (D) it g
D) 3 B ) TSR
(E) Not attempted
93. Choose the correctly spelt word. 98. TR G S 33(%—783‘5 ‘ WA
() Farewell ¥ guess & &9 § fage e mn 2
(B) Fairwal 1A) 9§ 1909
(C) Fairwell (B) =¥ 1903
) el (©) T 1900
(E) Not attempted D) - 1906
94. Complete the following analogy. (E) v=miee
Faith : Doubt : : Enjoy :
(A) Suffer 99. WM arayiw I fora IyuTr @ foE
{B) Sad - B3 ?
) Pan Bs W e
(D) Happy a Tfnd
(E) Not attempted :ﬁ; 3 TSt
95. Complete the following analogy. (D) aT‘Fﬂ
Full : Empty : : Pride : (E) 3tseferg
(A) Denounce
(B) Dissuade 100. %"!ﬁ b T FFa e d ?
(C) Defendant (A) o % '
(D) Humanity (C) 1 ([D; 4
(E) Not attempted E)
ST




